RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Enrollment - February)

	(Enrollment - February)										
	:							RES	. NO	. <u>17-</u>	-88
1	WHEREAS,	the	Tohono	o'odh	ıam	Counc	il ha	ıs	revie	ewed	the
2		recomme	ndations	of	the	Enro	ollment	: C	ommit	ttee	in
3		accorda	nce with	ı Sect	ion	1 of	Artic	le '	VIII	of	the
4		Enrollm	ent Ordin	nance,	Ordin	ance 1	10. 05-	81,	and	has	made
5		a fina	l determ	ninatio	n th	at th	ne app	olica	tion	of	the
6		followi	ng appli	icants	for	membe	ership	in	the	e To	hono
7		O'Odham	Nation h	e appr	oved:						
8	ARTICLE SECTION		BERSHIP CHILDREN	J BORN	ጥር) ድፑ	STDRNY	" MEMBE	ים פ			
9		2610-B-		ONE, I				iko			
10		2546-B- 2611-B-	87 ENG	OS, Mir	anda	R.					
11		1782-CK		ION, Ma			rhondo)				
12		1783-CK 1784-CK	-85 PIN	ION, Ra ION, Ra	mon	m (Am	, nondo ,				
13		1788-CK 1901-CK	-85 MAI	DONADO EGAS,	, Aar		\				
14		1941-CK 1942-CK	-87 FIE	ERRO-IN	NIS,	Maya I	E .				
15		1943-CK	-86 ORC	S-VALE	NZUEL	A, Jos	se Luis				
16		1953-CK 1954-CK	· x	UIEROS E, Jac							
17		1364-GV		CIA, H	-	N.					,

GARCIA, Jay B. ROCHA, George Jose 1369-GV-88

18

19

20

21

22

23

24

25

26

27

28

29

30

31

1370-GV-88

1432-P-88 STREET, Neil

ZAMORA, Carmen U. ZAMORA, Jasmine U. ZAMORA, Juan F. 1108-GB-87 1109-GB-87 1110-GB-87

CRAWFORD, Johanna M. 3002-s-87 3003~S-87 TONEY, Beverly M.

1517-SO-87 JOAQUIN, Fredina D. NORRIS, Vida N. 1621-SO-88

PABLO, Anastasia R. 1622-SO-88

PARRA, Darricke J. 1422-SX-87 1441-SX-87

IGNACIO, Frances Marie IGNACIO, Tarkington Francis 1442-SX-87 1445-SX-87 GALVEZ, Ronald Matthew

144-ND-85 MORALES-PASOS, Jose PAZOS-MONTIJO, Ramon 145-ND-88

ARTICLE II - MEMBERSHIP SECTION 1A - ALL INDIANS WHOSE NAMES APPEAR ON THE OFFICIAL CENSUS ROLLS

32 1618-SO-88 JOE, Ernesto JOE, Jose JOE, Ventura 1619-SO-88 1620-SO-88

RES. NO. <u>17-88</u> (Enrollment - February Page Two (2)

NOW, THEREFORE, BE IT RESOLVED that it is hereby determined that the above named applicants are eligible for enrollment as members of the Tohono O'Odham Nation under Section 1(a) or (b) of Article II of the Constitution of the Tohono O'Odham Nation, and that their applications are approved, as herein above indicated.

FURTHER RESOLVED that the Chairman and other appropriate BE IT officers of the Tohono O'Odham Nation reduce this final determination in writing regarding each of the foregoing applications for enrollment in accordance with Section 3 (c) of Article III of the Enrollment Ordinance; give notice of this Council's determination in accordance 4 of Article III of the Enrollment with Section Ordinance; and place the names of each applicant upon membership roll of the Tohono O'Odham Nation in accordance with Article V of the Enrollment Ordinance.

The foregoing Resolution was passed by the Tohono O'Odham Council on the 1st. day of February, 1988 at a meeting at which a quorum was present with a vote of 1,402.0 for; -0- against; 238.0 not voting; and -0- absent, pursuant to the powers vested in the Council by Section 1 of Article II and of Section 1 (h) of Article VI of the Constitution of the Tohono O'Odham Nation, adopted by the Tohono O'Odham Nation on January 18, 1986 and approved by the Acting Deputy Assistant Secretary - Indian Affairs (Operations) on March 6, 1986 pursuant to Section 16 of the Act of June 18, 1934 (48 Stat. 984).

TOHONO O'ODHAM LEGISLATIVE COUNCIL

Harriet Poro, Legislative Chairperson day of <u>February</u>, 19<u>88</u>.

ATTEST:

Teresa M. Choyguha, Legislative Secretary

9th day of February , 1988

Said Resolution was submitted for approval to the office of the Chairman of the Tohono O'Odham Nation on the 9th day of February, 1988, at 3:50 o'clock, 9.M., pursuant to the provisions of Section 5 of Article VII of the Constitution and will become effective upon his approval or upon his failure to either approve or disapprove it within 48 hours of submittal.

3 4

1

2

5 6

7 8

9 10

11

12 13

14

15 16

17

19

18

20 21

22 23

25

24

26

27

28

29

31

30

32

RES. NO. <u>17-88</u> (Enrollment - February) Page Two (3) TOHONO O'ODHAM LEGISLATIVE COUNCIL Harriet Poro, Legislative Chairperson on the // day of Febr. APPROVED at 2:40 o'clock, P. .M. DISAPPROVED) enos francisco, Jr., o Tohono o'odham nation Returned to Legislative Secretary on the 11th day of fibruary. 19<u>88</u>, at <u>4.00</u> ο'clock, <u>ρ</u>.Μ. 3

MOVED:	ROSITA RUIZ	SUBJECT: ENROLLMENT - FEBRUARY
SECOND:	JULIA CARRILLO	
DATE:	FEBRUARY 1, 1988	RESOLUTION XOXX OR THE RESOLUTION XOXX OR THE RESOLUTION XOXX OR THE RESOLUTION XOXX OR THE RESOLUTION X OX THE RESOLUTION X O

DISTRICTS	REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
SIF OIDAK	1. Nicholas Jose	69.0	Х			
138.0	(Letitia Garcia) 2. Willard Juan, Sr. (Melissa Gregorio)	69.0	Х			
SELLS	 Andrew Patricio (Daniel Lopez) 	128.5	X			X
257.0	2. Fred Stevens	128.5	Х			
SCHUK TOAK	1. Julia Carrillo	52.5	Х			
105.0	(JoAnn Francisco) 2. Joseph Juan (Frances Francisco)	52.5	Х			
SAN XAVIER	1. Eugene Enis	63.0	X			
126.0	(Michael Rios) 2. Tony Felix (Carmelita Mattias)	63.0			Х	
BABOQUIVARI	1. Kenneth Chico, Sr.	120.5	Х			
241.0	2. Joann Garcia (Frances Miguel)	120.5	Х			
GU ACHI	1. Percy Lopez	79.0	Х			
158.0	2. Fernando Joaquin (79.0	Х			
PISINEMO	1. Johnson Jose	58.0	Χ			
116.0	2. Edward Manuel (Alex Antone)	58.0			Х	
SAN LUCY	1. Wexxiose	42.5	X			
85.0	(Dewey Ortega) 2. John Reno ()	42.5	Χ			
GU VO	1. Virgil Lewis	58.5			Х	
117.0	(Roy Montana) 2. Cross Antone (Juan Joe Cipriano)	58.5			Х	
HICKIWAN	1. Henry Ramon	64.0	Χ			
128.0	(Billy Manuel) 2. Lloyd Francisco (Eleanor Santos)	64.0	Х			
CHUKUT KUK	1. Rosita Ruiz	84.5	Χ			
169.0	(Rosemary Lopez) 2. Harriet Toro ()	84.5	Χ			
	TOTALS	1640.0	1,402.0	-0-	238.0	01